Word Problems

1) Sarah has 28 apples. She wants to put them into baskets with 7 apples

in each. How many baskets does she need?

2) A box holds 5 pencils. If there are 35 pencils, how many boxes are
needed?

3) There are 45 candies. If each child gets 1 candy, how many children
can get a candy?

4) A teacher has 30 worksheets. She gives all the worksheets to 1
student. How many worksheets does the student get?

5) Emma has 36 stickers. She wants to share them equally among her
6 friends. How many stickers will each friend get?

6) There are 63 flowers to be divided equally into 9 vases. How many
flowers will be in each vase?

7) A farmer has 24 eggs. He wants to put them into cartons that hold
6 eggs each. How many cartons does he need?

8) If there are 81 students and each group has 9 students, how many
groups can be formed?

9) There are 29 cookies. If each child gets 5 cookies, how many cookies

are left over after each child gets 57

10) A library has 47 books and 6 shelves. If the books are evenly
distributed, how many books will each shelf have, and how many
books will be left over?

11) A baker has 36 cupcakes. He packs them into boxes of 6. If each box

has 6 cupcakes, how many boxes will he need?

12) If you have 45 marbles and you put them into bags with 5 marbles each, how

many bags will you fill?
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13) Atoy shop has 400 toy cars. They are packed into boxes of 10. How many boxes

are there?

Worksheets for primary students are available.
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" Word Problems Answers
1) 4 Baskets

2) 7 Boxes

3) 45 Children

4) 30 Worksheets
5) 6 Stickers

6) 7 Flowers

7) 4 Cartons

8) 9 Groups

9) 4 Cookies

10) 7 Books on each shelf, 5 books left over.
11) 6 Boxes

12) 9 Bags

13) 40 Boxes
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